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PAPER 2 - FOUNDATION TIER

GCSE Mathematics - Linear

Final Mark Scheme

Paper 2 (Calculator allowed) Marks i
Foundation Tier November 2014 m
1. (a) (Coffee) (£) 8.92 Bl
(Tea) (£)11.61 B1
(Sandwiches) (£) 9.28 Bl
Total (£)29.81 Bi (£) 29.81 implies B4.
F.T. if at least B1 awarded.
(b) (£)40 —(£)29.81 M1 FT their total
=(£) 10.19 Al =(£)10.19 gets M1, A0
6
2.
Weight 65 65mg  65km BI
Capacity 250cm? 250litres  250mm’ Bl
Dover/Calais 41m 41cm 41mm Bl
Window 210m 210mm  210km | BI
4
3. (a) Evidence of square counting M1
57— 64 inclusive Al
(b) (i) (ii)
B2 B1 for each
e o - Lines must be at least drawn within the shapes.
© () 4 Gi) 2 B2 | BI foreach
6
4. (a) (i) cylinder Bl Do not accept 'circular prism'.
(ii) cone B1
(b) (i) tangent Bl
(i) radius Bl
(c) Perpendicular Bl Allow from right of the 'p' in passes' to the left of the
r' in 'through’' inclusive.
Welsh: from the right of 'n' in 'mynd' to the left of 'B'
in 'AB'
(d) Obtuse (Aflem) Bl
(e) 12 Bl
cm’ Ul Independent
8
5. (a) impossible Bl
(b) unlikely Bl
(c) (an) even(s) (chance) Bl
3
6. (a) Value —-50+2 (m) Bl Units not required, but penalise_incorrect units —1
once only.
(b) Value =70 =2 (m) Bl
(c) (i) 70 (m) Bl ~70 gets BO.
(ii) Their (a) — their (b) OR 20 2 (m) Bl Difference is positive. =20 gets B0,
4 -

© WIEC CBAC Lud




GCSE Mathematics - Linear Marks FINAL MARK SCHEME
Paper 2 (Calculator allowed) Comments
Foundation Tier November 2014
7. (a) 2 x(£)1.20 M1
= (£)2.4(0) OR 240(p) Al Mark final answer
(b) (Ist 90+ 1.60 +2.30 = (£)4.8(00) OR_480(p) Bl
(2nd 69+ 1.40 + 1.90 = (£)3.99 OR 39%p) Bl Accept (£)1.90 only OR 10p change
Alternative:
B2 for sight of 21p, 20p and 40p
OR BI for any two of these.
Difference = (£)0.81 or 81p Bl BO for (0).81p
SC2 for 70(p) (based on small, large, large letters FT their totals provided at least Bl awarded and 1st
class>2nd class.
(¢) Since width >16.5 OR since thickness>0.5 OR since Bl Accept 'large letter' only. Can be implied by (£)1.90
weight > 100g it is a large letter. STOP PRESS! - Award B3 for sight of £1.90 AND 'yes'
OR 'got £2' OR "10p change'.(No need for mention of 1st
Class). Award B2 only for a statement that claims she
can post the letter 2nd class but does not mention £1.90,
Letter weighs 550g which is 1st (£)2.30 2nd (£)1.90 Bl
Yes, but only if posted 2nd class. Bl OR 'She has enough to post 2nd class (but not 1st'.)
8
8. (Number of hours worked =) 39 Bi FT 358.34 —their 305.90 Alternative method
(Pay for first 35 hours =) 35 x (£)8.74 M1 39 Bl
= (£)305.9(0) Al 39x(£)8.74 Mi
(£)340.86 Al
(Pay for extra 4 hours =) (£)52.44 Bl FT 358.34 — their 305.90 | 358.34—"their 340.86'
(Rate for these extra hours =) (£)52.44/4 Ml FT (their 52 44" = (£)17.48 Bl
=(£)13.11 LS.W. Al (‘their 39'-35) 17.48/4 = (£)4.37 AND
(£)4.37 + (£)8.74 Mi
=(£)13.11 LS.W, Al
QWC QWC
Look for 2 QWC2 Presents relevant material in a coherent and logical
e Spelling manner, using acceptable mathematical form, and with few
e  Clarity of text explanations if any errors in spelling, punctuation and grammar.
®  The use of notation — watch for *=*,’£’, *p’ being QWC1 Presents relevant material in a coherent and logical
used appropriately. manner but with some errors in use of mathematical form,
QWC2: Candidates will be expected to spelling, punctuation or grammar.
e  present work clearly, with words explaining their OR_ . o ) )
processes or steps Evident weaknesses in organisation of material but using
AND acceptable mathematical form, with few if any errors in
e make few if any mistakes in mathematical form, spelling, punctuation and grammar. o ,
spelling, punctuation and grammar and include QWCQ Evident weakness;s in organisation of material, and
anits in their final answer errors in use of mathematical form, spelling
QWCI: Candidates will be expected to
e present work clearly, with words explaining their
processes or steps
OR
e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include
units in their final answer 8
9. (a) (i) Divide the previous term by 4 Bi Accept +4 OR x Y. B0 forn/4 ! !
-halved and halved again', BO for n/4.
(i) Multiply the previous term by 3 BI1 Accept x3 B0 forn = 3
(b) 0,~11 B2 B1 for each. F.T. for 'their 0 —11' if negative,
(c) 8a Bl 93 — 7'
(d) 21 +4n Mark final answer. B2 | Bl forsightof4 xn OR 4n if in an expression of the
1 + L]
In parts (c) and (d) penalise —1 once only for change of
letter
Sx7+ 4n gets Bl only, In (d) allow N for n
7

© WJEC CBAC Ltd.




GCSE Mathematics - Linear

Paper 2 (Calculator allowed) Marks FINAL (l\:/‘lj ?nl:nl;iSHEME
Foundation Tier November 2014
10. (a) 1550 % 0.84 M1 Alternative method
=(£)1302 Al £s not required but A0 for euros. | 1,19 ¢ = £]
1550 M1
(b) 798/0.84 M1 1.19
= 950 (euros) Al euros not required but A0 for £5. | =1302,52
3 Ilnot1302 then AO, |
11. 3 or 4 angles correct and all 4 sectors correctly B4 Use the overlay and allow + 2°,
labelled. Correct labels (Letter/word NOT the frequency OR angle).
3 or 4 angles correct, labels not fully correct. B3 Accept labels in the form of a key.
2 angles correct and these 2 sectors correctly labelled. B3
2 angles correct B2
1 angle correct and correctly labelled. Bl
OR OR [t BO QR B1 scored for the diagram, check the angles and
the method to see if the M1 and the A1 can be awarded
instead of B1.
If 0 OR 1 for their diagram or no diagram. M1 1 is 1!%° gets the M1,
360/240 Ifonly B1 is scored for the diagram, and all the angles given
Angles are 150°, 96°, 60° and 54° Al correctly, then cancel the Bl and award M1, Al for 2 marks.
OR SCI for all percentages: 41-7,267, 16:7, 15 Or
4 rounded OR truncated.
Decimals
12. 1/7+4/7=35/7 Bl J4+.57=71 | Bl %o +87% =719
2/7=30 Bl F.T. 'their 5/7' | 29=30 Bl | etcas for
1/7=15 Bl F.T. 30 Bl | decimals.
No. of girls = 105 Bl F.T. 29
= 1034 Bl | I{not 105 then
4 4 | B0,
13. 1364 BI C.A.0.
181.41(2) Bl R I
9.07(....) Bl F.T.
190.48(26) Bl |F.T.
211.63(26) Bl F.T. Einal answer must be 2 decimal places
5
14. (a) All points plotted correctly B2 B1 for 5 correct, or reverse correct for 7 or 8 points
(b) (16+32+40+20+34+32+44+6)/8 Ml For intention to add y-values and divide by 8
224/8. Allow slip in y-values used
28 Al CAOQ. Accept unsupported 28
Line of best fit through mean point, (32, ‘their 28°) B2 Only award B2 provided at least M1 previously awarded
Tolerance within half square if mean point plotted,
otherwise intention must be clear.
FT ‘their 28" provided M1 awarded and their line of best fit
has an appropriate skew (but may not have points above and
below)
B1 for a straight line of best fit, with points above and
below, OR for straight line of best fit through the mean point
but skewed
(If M0, AQ maximum possible is B1)
(c) Positive Bl
(d) From their line of best fit (reading to 1 small square) QR Bl FT from straight lines or curves.
Y in the range 21 to 22 inclusive 8
H2
15.(a) 36 =4 x3 M1
=27 (inches) Al
(b) s =36 +27* M1 | F.T. s" = 36+ (their (a))°
§* = 1296 +729 = 2025 Al
s =45 (inches) Mark final answer. Al Penalise —1 once only for incorrect units
5 .
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GCSE Mathematics - Linear
Paper 2 (Calculator allowed)
Foundation Tier November 2014

Marks

FINAL MARK SCHEME
Comments

16. Also look at their diagram
Difference between length and height = Length of one small S This is the key step for solving the problem
square = 4 Must signify that 4 is the length of the SMALL square.
This could be implied by using the '4' in their further
working.
Length of large square = (26 - 4)/2 Ml F.T. 'their 4' if it is clearly 'their length of a small square'.
=11 (cm) Al
OR 15-4=110R (30-8)2=11 Watch out for embedded answers, e.g. 11+4-+11=26 OR
11-+4+11+4=30.
Unsupported 11 gets all 3 marks.
3
17. Idea that exterior angle sum is 360° Bl Sight of (360 — 72 =) 288(°) implies idea of 360°
Idea to sum angles, sight of 3x + 2x + x + 38 + 34 Bl Allow if implied or given with an incorrect equation, e.g.
(=6x +72) ‘6x+ 72 =07, or ‘3x+2x+x =540 34 — 38’, or ‘3x+2x+x=
468’, accept with ‘any multiple of 180°- 72 provided >0
(e.g. 108, 288, 468, 648, 828, 1008, ...)
Equate (their) sum of angles and 360° Bl
x° = 48(°) Bl C.AQ, Ignore®
Award B4 for a correct answer, 48
Interior sum method:
Interior angles 180-3x, 180-2x, 180-x, 180-38 & 180-34
AND Sum interior angles (3 x180=) 540(°) B2
(or BI for sight of all the interior angle)
180-3x + 180-2x + 180-x + 180-38 + 180-34 = 3540 Bl
x(°) = 48¢°) Bl
H4 4
18.(a) 2(3x-4) Bl
(b) 3x40°-25 M1 | Must be intention 3x40x40, not for (3x40)>
4775 Al Allow, e.g. “3x40 squared - 25, provided not contradicted
by further incorrect interpretation in a calculation
Ignore ‘n="throughout (c)
(c) 12n~5 OR_equivalent B2 Accept unsimplified form._ Bl for 12n
Only (b) H6(2) & (<) 6(b)(i) 5
19. One correct evaluation, Bl X ¥-x-10
28x%3 2 ~4
2.4 -2.839
2 correct evaluations, B1 2.2 -1.552
2.25 <x <2.4, one either side of 0 2.25  -0.859375
2.3 -0.133
2 correct evaluations, Mi 231 0.016391
2.25 <x <2.35, one either side of 0 232 0.167168
233 0.319337
23 234 0.472904
No calculations shown: accept “too high”,*>", ete. Al 2.35 0.627875
236 0.784256
2.4 1.424
2.5 3.125
2.6 4.976
2.7 6.983
2.8 9.152
29 11.489
3 14
An unsupported answer of ‘2.3’ is awarded SC2
H7 4
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